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reasonable work number the students collected. So, the
8 a d—11; dis the number of total number of shells is double the
daisies planted amount in the first pile, 2 + 22, or
b7 44 shells
Rubric Rubric
a. 1 point for expression; 1 point for a. 1 point for each expression; 1 point for

defining variable defining variable
1 point b. 1 point for total shells; 1 point for each

method explanation
a. Adult tickets: a

Student tickets: 3a
Senior tickets: a — 8

a+3a+(a-8)=5a-8
No, Elena only sells 67 tickets.
5(15)-8=75-8=67

Rubric

a. 1 point for each expression

b. 0.5 point

. 1 point for answer; 0.5 point for work
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6.EE.6

SELECTED RESPONSE Select all correct answers.
Select the correct answer.

1. There are red and blue marbles in a bowl
There are twice as many blue marbles as
red marbles. What expression represents
the number of blue marbles?

@ 2b, where bis the number of blue
marbles

(B 2r, where ris the number of red
marbles

(© r+2, where ris the number of
red marbles.

() g,whe'e bis the number of
blue marbles
2. xis 4 less than a number y. What
expression represents the value of x?
®x-4
®y-4
© x+4
@®y+4
3. Kyle starts with $15.00 and saves $3.50

each day. What expression represents
the total amount Kyle saves?

@ $350

(B $15.00

(© 3.5t + 15, where tis the number
of days

5. Joan has 3 fewer dogs than rabbits. If ris
the number of rabbits Joan has, which
expressions represent the total number of
animals Joan has?
®@r
®r+(r-3)
©r-3
®2r-3
® r+(r+3)

CONSTRUCTED RESPONSE

6. Paulo and Marie are collecting quarters.
The number of quarters Paulo has is
3 times the quantity of 5 fewer than the.
number of quarters Marie has. Write an
expression for the number of quarters
Paulo in terms of the number of quarters
Marie has. Define any variables used.

7. The value of xis 3 more than half the
value of y.
a. Wite an expression for the value of x
interms of y.
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(B 15t+3.5, where s the number

oraays b. What is the value of x if
4. The product of two different numbers is your work
132.f one of the numbers is x, what
expression represents the value of the
other number?

® 2
B
(B 132x

© 132-x
@ x+132

72 Show.
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8. Daisies and tulips are planted in a

garden. There are 11 fewer tulips
planted than daisies
a. Write an expression that represents
the number of tulips in terms of the
number of daisies. Define any
variables used

b. If 18 daisies are planted, how many
tulips are planted?

9. Elena s selling tickets for an amusement

park.She sells triple the number of
student tickets as adult tickets and

she sells 8 fewer senior tickets than
adult tickets.

a. Write expressions for the number of
adulttickets, student tickets, and
senior tickets, using a as the number
of adult tickets.

10. A group of students collect a number of

shells on the beach. They sort the shells
into three piles based on the size of each
shell. The first pile has half as many
shells as the number they collected

The second pile has 10 fewer shells than
the first pile. The third pile has the
remaining shells.

a. Wite simplified expressions for the
number of shells in each pile in terms
of the total number of shells. Define
any variables used.

b. If there are 22 shells in the first pile,
how many total shells did the
students collect? Explain two
ways you could find the total number
of shells
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b. Using your answers from part b, write
a simplified expression for the total
number of tickets Elena sells.

c. If Elena sells 15 adult tickets, does
she sell at least 100 total tickets?
Show your work.
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A

.B,D
. Possible answer: 3(q - 5); g is the

number of quarters Marie has
Rubric

1 point for expression; 1 point for
defining variable

1
La —y+3
2}’

=

The value of x is G%,

Rubric
a. 1 point
b. 1 point for answer: 1 point for

10. a

o

Let s be the total number of shells.

First pile: % shells

Second pile: %710 shells

iy
{ge5)

Third pile:
=s-(s-10)
=s-5+10

Axlee)

The students collected 44 shells.

First way: Use the expressions from
part a. If the first pile contains

22 shells, the second pile contains

10 fewer than the first pile, or
2210 = 12 shells. The third pile
contains 10 shells. The total number
of shells the students collected is

the sum of 22, 12, and 10, or

22+ 12+ 10 = 44 shells.

Second way: Use the information
given about the first pile. The first pile
contains half as many shells as the





